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15| S NS 5HES 450 4HE5 450 EWA470 1 -1
16 | W | EW 4DS-3 150 3HW4 170 20 1 EW140 1
17 | N |None 4CXW-7 1700 3NS3 400 1300 16 NS600 15 5
18 E NS 5DN6 620 2HS5 200 420 9 NS340 7 4
19| S | EW 4HN-2 100 2HN3 140 240 6 NS70 -5 -2
20 | W |Both 3CN-1 100 2NS-1 100 EW80 -1 1
21 N NS 2SS2 110 2SS2 110 NS30 2 -2
22 E | EW 4HW5 650 4SW4 620 30 1 EW660 -1
23 | S |Both 3NN5 660 3NN5 660 NS660
24 | W [None 3NE4 430 3NE4 430 EW370 -2 2
25| N | EW 5CS-1 50 6CS7 940 990 14 NS760 -13 -5
26 E |Both 2DW2 90 2DW3 110 20 1 EW130 1 -1
27 | S [None 3CwW3 110 4CW-2 100 210 5 EW40 -2 -4
28 | W | NS 3SE3 140 3SE3 140 EW50 -3 3
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15| S NS 4HE5 450 5HES 450 EWA470 1 -1
16 | W | EW 3HW3 140 3HW-1 100 240 6 EW140 -6
17 | N |None 2DXW-2 300 3NN3 400 100 3 NS600 -7 5
18 | E NS 2DN6 170 3DN6 170 NS340 -5 5
19| S | EW 3SE-2 200 3SE-2 200 NS70 4 -4
20 | W |Both 3NS-2 200 3NS-1 100 100 3 EW80 -3 1
21 N | NS 2SS2 110 2NS-1 100 210 5 NS30 2 4
22| E | EW 4SE6 680 4SE4 620 60 2 EW660 -1 -1
23 | S |Both 3NN5 660 3NN5 660 NS660
24 | W [None 3DE5 150 3NE4 430 280 7 EW370 6 2
25| N | EW 6CS7 940 6CN7 940 NS760 5 -5
26 | E |Both 3DW3 110 4CS-3 300 190 5 EW130 1 5
27 | S [None 4CW4 130 4CW-1 50 180 5 EW40 -3 -3
28 | W | NS 4SE-1 50 4SXE-2 300 250 6 EW50 3 -8
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15| S NS 5HXES 650 5DW5 400 250 6 EW470 -5 -2
16 | W | EW 2SN2 110 4HW4 620 730 12 EW140 6 10
17 | N [None 3NN4 430 3NS3 400 30 1 NS600 -5 5
18 E NS 2HS5 200 3NS6 690 490 10 NS340 -4 -8
19| S | EW 4HS-2 100 3CN4 130 230 6 NS70 -5 -2
20 | W |Both 2HW-2 200 3NS-2 200 400 9 EWS80 7 3
21 N NS 3NS-2 200 2SS4 170 370 9 NS30 -6 -4
22 E EW 4SE4 620 4HXW4 790 170 5 EW660 1 4
23 | S |Both 3NN5 660 3NN5 660 NS660
24 | W |None 3NE4 430 3NW3 400 30 1 EW370 -2 1
25| N | EW 6CS6 920 6CS6 920 NS760 4 -4
26 E |Both 2DW2 90 2DW3 110 20 1 EW130 1 -1
27 | S |[None 2SS-1 50 3CW3 110 60 2 EW40 2
28 | W | NS 4HN-2 200 4CS-2 200 EW50 -4 4
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R tHz2% | NS | EW | 2x%223% | NS | EW | #3 | #1 | #3[#1|#3[# Mean | NS EW
15| S NS 4HES5 450 5HES 450 EW470 1 -1
16 | W | EW 3HW4 170 4DS-3 150 20 1 EW140 -1
17 | N [None 3NS3 400 4CXW-7 1700 1300 16 NS600 -5 -15
18 E NS 2HS5 200 5DN6 620 420 9 NS340 -4 -7
19| S | EW 2HN3 140 4HN-2 100 240 6 NS70 2 5
20 | W |Both 2NS-1 100 3CN-1 100 EWS80 -1 1
21 N NS 2SS2 110 2SS2 110 NS30 2 -2
22 E EW 4SW4 620 4HW5 650 30 1 EW660 1
23 | S |Both 3NN5 660 3NN5 660 NS660
24 | W |None 3NE4 430 3NE4 430 EW370 -2 2
25| N | EW 6CS7 940 5CS-1 50 990 14 NS760 5 13
26 E |Both 2DW3 110 2DW2 90 20 1 EW130 1 -1
27 | S |[None 4CW-2 100 3CW3 110 210 5 EW40 4 2
28 | W | NS 3SE3 140 3SE3 140 EW50 -3 3
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¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #2 | #6 | #2 | #6 | #2 || Mean | Ns EW
15| S NS 5HES 450 4HE5 450 EWA470 1 -1
16 | W | EW 3HW-1 100 3HW3 140 240 6 EW140 6
17 | N |None 3NN3 400 2DXW-2 300 100 3 NS600 -5 7
18 | E NS 3DN6 170 2DN6 170 NS340 -5 5
19| S | EW 3SE-2 200 3SE-2 200 NS70 4 -4
20 | W |Both 3NS-1 100 3NS-2 200 100 3 EWS80 -1 3
21 N | NS 2NS-1 100 2SS2 110 210 5 NS30 -4 -2
22| E | EW 4SE4 620 4SE6 680 60 2 EW660 1 1
23 | S |Both 3NN5 660 3NN5 660 NS660
24 | W [None 3NE4 430 3DE5 150 280 7 EW370 -2 -6
25| N | EW 6CN7 940 6CS7 940 NS760 5 -5
26 | E |Both 4CS-3 300 3DW3 110 190 5 EW130 -5 -1
27 | S |None 4CW-1 50 4CW4 130 180 5 EW40 3 3
28 | W | NS 4SXE-2 300 4SE-1 50 250 6 EW50 8 -3
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15| S NS 5DW5 400 5HXES 650 250 6 EW470 2 5
16 | W | EW 4HW4 620 2SN2 110 730 12 EW140 -10 -6
17 | N |None 3NS3 400 3NN4 430 30 1 NS600 -5 5
18 E NS 3NS6 690 2HS5 200 490 10 NS340 8 4
19| S | EW 3CN4 130 4HS-2 100 230 6 NS70 2 5
20 | W |Both 3NS-2 200 2HW-2 200 400 9 EWS80 -3 -7
21 N NS 2SS4 170 3NS-2 200 370 9 NS30 4 6
22 E EW 4HXW4 790 4SE4 620 170 5 EW660 -4 -1
23 | S |Both 3NN5 660 3NN5 660 NS660
24 | W |None 3NW3 400 3NE4 430 30 1 EW370 -1 2
25| N | EW 6CS6 920 6CS6 920 NS760 4 -4
26 E |Both 2DW3 110 2DW2 90 20 1 EW130 1 -1
27 | S [None 3CwW3 110 2SS-1 50 60 2 EW40 -2
28 | W | NS 4CS-2 200 4HN-2 200 EW50 -4 4
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